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QUESTION 1

Data is loaded via a process chain to an Open Hub destination table. When this table data is then loaded into a non-
SAP operational system, it is found that records are duplicated over time. What action should you take to resolve this?
Select the correct answer.

A. Configure a technical key for the destination table.

B. Configure the destination table to be recreated on load.

C. Configure a semantic key for the destination table.

D. Switch the destination to a flat file in XML format.

E. Configure a semantic key for the destination table.

Correct Answer: C

QUESTION 2

What are the differences between the Reporting and Operational Data Store (ODS) layers in LSA if both are reportable?

)

A. They can use different InfoProvider types

B. The ODS layer is typically used for archiving
C. They differ in data refresh requirements

D. They differ in the granularity of data

E. They can use different InfoProvider types

Correct Answer: D

QUESTION 3

What are the advantages of using a line-item dimension when modeling an InfoCube? (2)
A. The primary key of the InfoCube fact table is shorter

B. The number of joins that must be executed during query runtime is reduced

C. Data is loaded into the InfoCube without generating DIM Ids for this dimension

D. Aggregates on this InfoCube do NOT need to be built

E. The number of joins that must be executed during query runtime is reduced

Correct Answer: C
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QUESTION 4

You want to update the 3.x version of an SAP BW DataSource to a 7.x version with the capability to restore the original
version. What should you do during the migration to achieve this? Please choose the correct answer.

A. Replace the 3.x SAP BW InfoSource with a 7.x version SAP BW InfoSource.
B. Migrate the 3.x DataSource version with export.

C. Delete all entries from the Persistent Staging Area (PSA)

D. Create a transformation to replace the transfer rules.

Correct Answer: B

QUESTION 5

Which of the following does the data propagation layer of your SAP BW system offer? There are 2 correct answers.
A. Complete data history.

B. Fast load of mass data.

C. A single version of the truth.

D. Ability to extract once and deploy many times.

E. A single version of the truth.

Correct Answer: D

QUESTION 6
Configure a technical key for the destination table A Flat interface DataSource is used to extract file data into the PS

A. The DTP, however, is having trouble loading the data into an InfoCube. What could be the possible solution? Select
the correct answer.

B. The BW DTP is set to Full extraction.

C. The Transformation does not have rules for all destination fields.
D. The DataSource has a delta process of FILO.

E. The BW DTP is set to Full extraction.

Correct Answer: C

QUESTION 7
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Which of the following initial tasks should you perform when designing an SAP BW data model? (2)
A. Analyze relationships between the characteristics and their attributes

B. Evaluate the volume of data to be loaded

C. Evaluation of the number and types of users

D. Evaluate the format of data to be loaded

Correct Answer: BC

QUESTION 8

How are non-cumulative Key Figures calculated? (2)

A. They can utilize a virtual Key Figure to combine inflows and outflows

B. They are designed in Business Explorer queries

C. They can utilize two virtual Key Figures to represent inflows and outflows
D. Their calculation is accomplished in Transformations

E. They can utilize a virtual Key Figure to combine inflows and outflows

Correct Answer: C

QUESTION 9

The Marines order 8 service members for deployment on Monday. This data is loaded to a Standard DSO. Then the
office requests 2 less service members, for a total of 6. This new after image data is also loaded to the DSO. What
records will be in the Change Log? Select the correct answer.

A.8,-8,6

B.8,-8,2

C.8,6

D.8,2

E.8,6,2

Correct Answer: A

QUESTION 10

You are executing a process chain to load transaction data from an SAP source system via a standard DSO into an
InfoCube but NO DATA arrives in the InfoCube. What are possible reasons for this? (2)
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A. The data does NOT meet the selection criteria of the DTP

B. The data comprises an error and the error handling setting is set to "Cancel Request, Do Not Track Records, No
Update”

C. The Data Flow object has NOT been activated
D. The Integrity check is NOT switched on in the transformations

Correct Answer: AB

QUESTION 11

What can you do to have two or more hierarchies with the same technical name? (2)
A. Configure the hierarch as version-dependent

B. Configure the hierarchy to have a time-dependent structure

C. Configure the hierarchy with link nodes

D. Configure the hierarchy as time-dependent

E. Configure the hierarch as version-dependent

Correct Answer: D

QUESTION 12

Which of the following are true about generic DataSources? There are 3 correct answers.
A. They can NOT be enhanced with additional fields after creation.

B. They are can be defined with delta capability.

C. They are can be used with real-time data extraction.

D. They are replicated by process chain.

E. They can be defined with filter criteria.

Correct Answer: BCE

QUESTION 13
Which of the following does the data propagation layers of your SAP BW system offer? There are 2 correct answers.
A. Ability to extract once and deploy many times

B. Fast load of mass data
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C. A single version of the truth
D. Homogenized data

Correct Answer: AC

QUESTION 14

There is a need to extract millions of records from an Oracle database into BW for analysis. Which of the following
represents the best ETL strategy? Select the correct answer.

A. Modify a Bl Content DataSource to include the Teradata fields in the extraction.

B. Use the File interface to extract manageable files of no more than 20,000 records each.
C. Use a WebService DataSource to stream the records into the PSA of the DataSource.
D. Use DB Connect for the ETL process.

E. Use UD Connect for the ETL process.

Correct Answer: D

QUESTION 15

What are performance advantages when using an InfoCube instead of a DataStore object? There are 2 correct
answers.

A. Reporting access to granular data using standard dimensions is faster.
B. The use of Surrogate IDs (SIDs) to replace master data values in tables.
C. Dimension tables can be read independently.

D. Navigational attributes can be used.

E. The use of Surrogate IDs (SIDs) to replace master data values in tables.

Correct Answer: C
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